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6056 6056.5 6057 6057.5 6058
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y
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6056 6056.5 6057 6057.5 6058
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X
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usr_12X:cyclenum {run == 6362}
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17574.6
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6056 6056.5 6057 6057.5 6058
cyclenum

7436.5

7437

7437.5

7438

7438.5

us
l_

co
il4
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6056 6056.5 6057 6057.5 6058
cyclenum

6360

6360.5

6361

6361.5

6362

6362.5

6363

6363.5

6364

ru
n

run:cyclenum {run == 6362}



6056 6056.5 6057 6057.5 6058
cyclenum

13431.5−

13431−

13430.5−

13430−

13429.5−us
r_

co
il1

usr_coil1:cyclenum {run == 6362}
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